v
Flap ofl N > @@

o -

Lol I

_

a

H

g X |H

H = o

& 0

|.EOE il

k1o ret

\
-

Hu 1%
o
2 e
n
A

N
20T
=5
ne rol
= o

il
J

Noy rx
10 -z |ob

o [ 2

A

4 re

1 |H Of
2

2

ro

[

P

=

Hu
Hu
!
10

N
Hu
>z
N
olr

>
nZ

o ox
iy OH
41 oX

rz oo
> mjo

o |m

2 Ofm

ol
2

> XMEME2SE
et ZUMAH o=

www.zimmer-group.kr

T

www.zimmer-group.com » CiO|E, = 3D 2 =& U HSHTAM

HME sOFE*LI Ch!

=, M3l M

IMEZ J_}AlA.EZ*!QE 01E1—-—01I71I—'?—
olzi2o EEs 20 s HES

=13
—
=]

3._
= 245t

P

ol A= SHE
Sk

sdEH

MAIL:

S
al
[SR=]

|C}.



> = A

oluixl 24 W

- ENISO 9409-1 £ Z3| 2
mAE 2% 22

- A7 B E MM Sl

exz EE
- &= egle 2EEAS
=]
S =2 RHE £E
LIREl Z71E 0
-3)Ns HEsE
- A QIO Mo Ihs
@uny 2E
-STE =
Ink <Lk
-EREXHE
AL
» 7|= OIOlE
EN ISO 9409-1 7| & HZ Z3Hx| 22 ofldx] HE 7l x| HE
[XXH
WWR40 TK 40 4 =
WWR50 TK 50 4 =M
WWR63 TK 63 6 =l
WWRS80 TK 80 6 =il
WWR100 TK 100 6 M
WWR125 TK 125 10 =M
WWR160 TK 160 10 =M

OolE, =M, 3D 2, =& 3 &5 4HA <« www.zimmer-group.com 3

,



|/
=
1
N
s
2
)
T

> THH EX]| /IR

7h4 Al 2 ol et 2 oh S RA EAL J| & A S tHA SHA|

oL =
(ko]
400 |
Mr
350 [ N

= =
gl
200 Q00°

150 —— 10m/s? Fal
100 —e— 5 m/s?
2' 2
58 o My [Nm] 1500
0 50 100 150 200 250 300 350 400 450 500 550 600 [mm] My [Nm] 1700
Fa [N] 26000
A — —
> i S Lol =
10 [Z2Z]
o ¢
COR0070150
=1
oliixl 22 i
GV1-8X8 / NJRO4-E2SK
ZM-LIAL M E & / M AOZ03m-2Z M8 &R HE
WV1-8X8 74
ZB]-LEAL R 2 é @ HdZ/7IEt

T
‘ﬁt’ olix| 24 W HHME| £7 B8]
€.

ZUB088923 ALSR13125
TAE QX Zo ~ AEEX| AHO|H
=~

> UMM | B AEB|X| AE|O|M

o QIHEIE 2 AQX[-A0[E 5m QHEIE 2H 29X - 221 M8

- NJ8-E2 / NJ8-E2S

www.zimmer-group.com » OO|E, £™ 3D 22 X A RS MHHA



> 7l& diolE

B4R WY
EERS

B o4 x W
RY ALK B

HaEA ANSE3

&S AU [bar]

s 2% [°C)

FA [kal

EN ISO 9400-1 7| &= HZA Z2H K|
[ Xt

34 &3 &H [oar]

Aol 2 & HEIH 1] [cm?]

S ZH E [kgem?]

ZUZX YOI AZEZEA F2ZM [mm]

TK 125
10

500
=
=4
71A A
1.3
0.01
0.02
150

80

2.85
4..10
6
5..+80
80

48

2.2

WWR125L-B
TK125

10

500

=4

=4

TIAH
0.01
0.02
2.85
4..10

5..+80

42
1.5

160h8

WWR125F-B

125
+0.02 610H7
143.4

| —#10H7x10 @

WWR125L-B

143.4

125
+0.02 g10H7

2x M6 @
6x M10 @
DIN912*

@gé 10H7x10J
@ 6x M10x15

160h8

@

Ao 5

X—

325238

@ 8x M5x6.5
@ 4x P 6H7x6

YA 12 |3 a4
566 ©68, |

80h7 \

16.2240.02

X
R
B A

60 §

'10.02 B6H7

4x M8x12

2 1 )
VD) N
NS N

-—X

2x G1/8" @ @)

10x 61/8“@

@ 8x M5x6.5
Y
@ 4x P EH7X6

\10x G1/8" @

e :

20

/()

60

0.02 @ 6H7

16.22+002

6.22

(OEREE )

@olux 32

@®uUz= 37153

®odx 248 13

@D =7zt o2 E
(DInEk=RinElE)

@) AE2|X| 20|49 B LEARA
ZRme|

N2
Qm
N
M
oy
n
Q
]

= O
7192 S=oh A = ATt
719 gaERA0 (EH/AY)
7192 SachM = ACHEH/AH)

N

@@
Okl O OH OH 2

210

w2

210

S
@
@
@

65

@

|

—
@ —— WWR125F-B
|

— WWR125L-B

EEER R PR B X

HiOlE|, =™, 3D 2

,

E

U =T 4B

< www.zimmer-group.com

3



S w8 oux| 24
A1H|3.7| WWR125 / WWR160

> HZ ctolof 17

el
WER3000 -+ r==3 | |—————
| I | APWER3052
N
A
kgl
== 11
[
: :-Pl I
WER3000 | =23 | j————————
| I APWER3054
0
FSEI 0
[
Lo

2 www.zimmer-group.com » CiO|E, = 3D 2 =& U HSHTAM



